1.

10.

CODE : 9088 (ET-A) SOLUTION : DANGAL-MTS#03 DANGAL TEsT SERIES
DATE : 02 April, 2025 for NEET-2025
E ) 3 3
0 _ ~_ V., R AP.
——=C=— T8 5|25
B, K 2. AP, =+3AP,, AP« AT [AFH J
Al
Power,Pz%cosgzo 1B. W=TAA = 3x10% =Tx50x 10" x2
_ -2
i, =3sinot+4cosot =ijsin(wt+0) T=30x107N/m _
14.  Airflows from smaller bubble due to high pressure
iy =\/(3)2+(4)2 +2x3x4c0s90° =iy =5 1 1
4 15. U=EF.!?=E><200><’IO><1><‘I0'3
tan9=§:>9=53°; iy = 5 sin(ot + 53°) VA
Maxwell modified the ampere's circuital law as 6 F= TN = F=YA(strain )
' d F=YA (strain)
$B-dl =p, |1+ b : .
=Ho €9 dt foragivenstrain F, >F, = A, > A,
A moving conductor is equallent to a battery of v Dev!at?on E’y a sphere_ Is2(-1)
emf =Blv (motion emf) PEVIatIOFI 0= 69 =2(i-n
i i-r=30°= r=1-30°=60° - 30° = 30°
R R :m:sm&) _f3
3 R sint - sin30°
[ : 18 T = sinC « A
' ‘ : S T ane sinC o
Equivalent circuit, |=1,+ |, AosinC - o N
applying Kirchoff's law, Angle of incidence is such that it is equal to critical
LR+ IR - B/V=0 angle for green colour, i.e angle of incidence is less
1 : "
LR +IR - BAV=0 than cr{tlcal for y‘ellow,.orange and red colour. So,
Adding (1) and (2) they will refract into air.
. 1 1
SR+ R =28/ = 2BL . L =1 _ VBl 19. ShlftAx=t(‘l——J :,0.3=t(1—E]:t=0.8cm
3R 3R " '
dc ammeter reads average value of current. 20. The distance of other end of rod from pole of
F Ft mirror.
a=—; y= ;V=—
o V=u+at m £ o3
BFt( =373
V, -V, =Bv(sin30" = —
am I f this end be at L +l—i
Power factor cos ¢ _R - 80 _80 . TRISOTIBEERE YT a2y
z  \80®+60> 100 v =-3f
22 2 2 . Image length = 3f - 2f = f
T ‘e .
= —_—= 2
Magnification /2
. A
2. A=38,=60 = r=—=30
A+d . sin60°
i:gzeo = U=—07 -3
2 sin30
2 R, =15x3=45cm,R, =15x4 =60cm
R=R, +R, =10.5cm
_ Changeinlength _ AL 23.  Virtual object can form real image in convex mirror

.

Strain =

Originallength 4

and plane mirror
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) DANGAL TEsT SERIES ) CODE : 9088 (SET-A)
%) - NEET-2025 SOLUTION : DANGAL-MTS#03

bl
24.  Frequency is depends on source. 39. Forideal diode forward resistance is zero.
A+ So, no current will pass through 20?.
sin m
2 .S ° . E 2 _
25 H=—p—-.0,=30 i=——=—""=0025A=25x10"A=25mA
inA Ry 80
sin— eff
2 40. Filter is used to reduce ripple
. _B
=—(pn-1)t hc hc
26.  Shift 7L(u ) o oev=nC o o _he
7\‘min eV
= wa 05x2x107% =28 42. The atom isin n=>5 state
500010~ 237 — 209
i.e., 2 fringes upwards 43, o= % =7; B =-92+(83+14)=5
AD A2D 40D H - -
W=_—"- w' = =" — 4w encex=7,y=5
27. q = ﬂ d ,
2 44, R« Al
46, ity = 3 = 3
M‘:_fi 1.,_f£ =_@ 1 5 ) Density =789kg/m” =0.789g/cm
28. £l D 5| 25| = M=-48 789
€ .. Molarity =——=1715
46
2. |, = b cos 600 20
T2 8 47 A + 2B — > 3C
WD 1x5x1077 x2 " " initial, 2mole 3 moles
30. y_n?__o.2x10‘3 =5x10"m=5mm final, 2-1.5 3-3 4.5 mole
2 = 0.5 mol =0 mole
3. 1, =(yl =L ] =(6-3)’1, =9I
dark (\/: ‘/:) (6-3), =9, 48. No.of sulphuratoms=02%2xN, =04 N,

50. + 0.5gCO,has0.011N, atoms of carbon
* 0.59C;0,has0.022 N, atoms of carbon
* 0.59gCH,,0, has0.016 N, atoms of carbon
* 0.59CH,,has0.036 N, atoms of carbon

E
32.  Momentum of photon, P = C

Velocity of photon, C= E

33. P -side is more negative than N -side 5. AH.° is only for one mole and complete
34, y= R(B +C) combustion.
. h 52 AS°=3n S0 -5n. S0
35, A=———, A=@=6.259 ' PP TRTR
vamk 2 — [174.0 +75]—[2x 195 + 2137] = ~354.7JK""mol"’
36. Current through resistance of 1k? AH.—x
i==—-=1mA P,H,(9) — 2P(9) + 4H(g), AH,,., = AH(P—P) +
1x10 4AH(P —H)
Lo
Current through 2K, T"=——"—5 = 6mA AH,., = AH(P—P)+ 4AH(P —H)
Current through zener =13 -6 = 7mA X 4x,
=Xy +hx—L =X, +—1
34 3 3
h 6.6x10 _34 .
37. A=—=——"7——=28x10""m 54. Standard enthalpy for formation, AH°, of an
mv  120x107° x 20

B’ K= hf — W element in reference state i.e.its most stable state

: of aggregation is taken as zero.
Em\f2 =hf-W is a quadratic in v, hence is a | 55. FornmolesC - C, =nR

arabola, open towards f-axis v = 0 when f= w |56 H +%02 — H,0 is the correct equation of AH(H,0)
’ h
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DATE : 02 April, 2025

57.

58.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

CODE : 9088 (SET-A)

Entropy is a state function

V.

AS =nRIn—2 =1><Rln£ =RIn3

v, v
— 0 e

2Br + H202 — Br2+ 20H

Il
HO - ﬁ -0-0-H
0O
X=+6
meq. of H,SO, = meq. of metal

100><‘I=0|::—9><1000

E=9
3C,02” - 6C0, change in oxidation state = 6
Moles of KMnO, required = 6/5

CH,NH, +H,0(f) = CH,NH;(aq) + OH (aq)
0.2 0 0
(0.2-0.2a) 02q 02a

Initial molar conc.
At equilibrium

5 =5
[oH | =k, =10
pOH =25
PH=14-25=15

1
pH = E[DKW +pk, +logC]|

1 1
= E[14 +474+log02] = E[18.74 ~0699] =9

At 1/2 end point

[ CH,COOH | =[ CH,COONa]

So pH = pka = 4.74

Mixture of weak acid and its salt with a strong
base acts as an acidic buffer.

For A,Bj K., =108S>
_ 4x1000

%100
M = 4x1000x0.0821x 300
100 x 6.57

n=CRT; 657 x0.0821x 300

=1499g

ATeoc i
Higher the value of AT, lower will be the freezing
point
For, Glucose, i =1
ForNa,S,i=3

9

F—32=§°C i °C=g(240—32)=115

ForKBr,i=2
For AICL,, i=4

SOLUTION : DANGAL-MTS#03

74.

76.

78.

79.

80.

81.

DANGAL TesT SERIES

for NEET=-2025
98x1.8x10
M=T=18 molar : AISO, M1 V1 :M2 V2
0.1x 1000
18xV, =01%x1000; V3 =—"——=555mL
2
Equilibrium constant Kp, and Kp, are 11 5 and
4pa* ;
—=— respectively.
1-a
K P
L P =i=1:1
I(I32 4P, 4x1

_1000xk _1000x0.0015

A =150Scm?mol ™
C 0.01
Reduction
I 1
HOl ——10; + |,
Oxidation
E’ =115V. g°_  _

o

Ecenn =Enou, _Elog o = 4315V 028V
E°.. is positive hence HOI will undergo
disproportionation reaction

+3 -3
Ph—NO2 —-Ph—N3
changein ON.=6
So, 6F charge is required.

Cathode: Ag* +e~ — Ag

Anode : H,0 — %Oz +2H" +2e”

Using Faraday's law

0.965x%1000
4 x 96500

Volume (0,) =25x107 x22.4 =0.056L

CuSO, solution cannot be stored in both A and C

vessel as A and C both can reduce Cu®* to Cu.

Mole (0,) = =25%10"°

AG =-nFE.

cell

n= 2(H2 —2H" +Ze)
° o o 1 °
AG =AG (Hzo)—AfG (Hz)—EAfG (02)

=-228.6kimol™
~228.6x10> = —2x96500 xE.

cell

o

E.. =118V

cel
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DANGAL TEsT SERIES CODE : 9088 (SET-A)

|
2 SOLUTION : DANGAL-MTS#03
§ Sor NEET-2025 DATE : 02 April, 2025
82. Temperature distribution curve for K.E. of gas | 86. Order of a reaction is determined experimentally.
molecules. 87. Forzero order reaction, rate remains constant.
83. Ratea[conc]",2=(4)V2 ..n=1/2 For 80%, time = 40 min
84. Thereaction is first order are the unit of rate con- So, for 50%, time = @x 50 =25 min = 0.416hr
stant s 80
1 89. Henry law, is p = Kx
a
b= x2303log— x = mole fraction of dissolved gas
100 p = Partial pressure of gas
= x2303log————
4.606x10° 100-90 . log p=log K+ log x
=0.5x10° =500s log x =log p - log K,
2303 90. Increase in volume decreases the pressure (T=
85. gy =— —1092 N e L
k constant), so equilibrium will shift in a direction
2303 2303 where number of molecules of gas increases
toeo, =———log4 =2x log2 ormolec org C -

= ty59, = 2% 1509,

Answer-Key

. 1 2. 4 3 1 4 2 5 2 6 4 7. 1 8 3 9. 2 10 4
n. 4 12. 1 1. 2 14 4 15 2 16. 2 17. 2 18 1 19. 1 20. 4
2. 2 22. 4 23 4 24 2 25 2 26 1 27. 2 28. 2 29. 4 30. 4
3. 3 32. 1 33 1 34 4 35 3 36 3 37 2 38 3 39. 4 40. 2
M. 4 42, 3 43 3 44, 2 45 4 46, 1 47. 3 48. 2 49, 2 50. 4
51. 4 52, 1 53. 4 54, 3  55. 1 56. 2 57. 4 58, 1 59. 3 60. 4
6. 1 62 3 63 2 64 4 65 3 66. 1 67. 4 68. 2 69. 1 70. 4
n. 4 72.1 73 4 74 4 75. 2 76. 2 7. 3 78 4 79. 2 80. 2
8. 4 8. 3 8. 3 84 4 8. 2 8. 3 8. 3 8. 3 8. 4 90. 2
9. 3 92. 3 93 4 94 1 95 2 9. 1 97. 2 98 2 99. 4 100. 3
101. 4 102. 3 103. 4 104. 3 105. 4 106. 3 107. 2 108. 2 109. 4 1M0. 3
m. 4 1MM2.1 M3 4 M4 3 M5 2 M6. 4 M7. 4 ™8 2 M. 4 120 4
121. 4 122. 4 123. 4 124. 2 125. 2 126. 2 127. 2 128. 3 129. 3  130. 2
131. 2 13221 133.1 134. 4 135. 2 136 1 137 1 138 3 139 4 140 4
41 3 142 4 143 2 144 1 145 2 146 2 147 3 148 1 149 2 150 2
%1 4 152 3 153. 2 154. 3 155. 3 156. 3 157. 2 158. 4 159. 3  160. 3
161. 1 162. 3 163. 2 164. 1 165. 4 166. 3 167. 2 168. 3  169. 1 170. 3
7. 1 172, 2 173. 3 174. 4 175. 4 176. 1 177. 1 78. 3 179. 3 180. 3
4 "@HESeA" Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



DATE : 02 April, 2025

CODE : 9089 (SET-B)

. tanf =

b~
€«—>
TOTTTTT Ty o oY

=2 =3
v |w

B
g’

Changeinlength A_€_1
Originallength (

Strain =

3 3
AP, =3AP,, AP oc -, Vi _R7 _( AP,
R™v, r3 (4P

Deviation by a sphere is 2(i - r)
Deviation 6 = 60° =2 (i - 1)
i-r=30°

r=i-30°=60° - 30° = 30°

_sini_ sin60° _3

—_— 3
sinr - sin30°

1_1 :

A sinC =S &

Angle of incidence is such that it is equal to critical
angle for green colour, i.e angle of incidence is less
than critical for yellow, orange and red colour. So,
they will refract into air.

ShiftAx = t[1 —l] —03= t[1 - l] = t=08cm
il 1.6

i, =3sinot+4cosot =iysin(ot+0)

iy = \/(3)2 +(4)* +2x3%x4¢c0s90° =iy =5

tan8=§:>9=53°

I, =5 sin(ot + 53°)
Maxwell modified the ampere's circuital law as

A moving conductor is equallent to a battery of
emf =Blv (motion emf)

RE g
> R h

<

I, k

Equivalent circuit, | =1, + |,
applying Kirchoff's law
lLR+IR-Bfv=0 |,R+IR-B/V=0

SOLUTION : DANGAL-MTS#03

10.

.

12

13,

14.

15.
16.

17.

18.

19.

20.

21

22,

23,

DANGAL TesT SERIES

for NEET=-2025
Adding (1) and (2)
) 2vB/ vB/
2IR +IR=2Bfv = sl=EL =
3R
Frequency is depends on source.
. A+3
sin 5
=— < 8 =30
H A i
sin—
2

Shift = %(u - 1)t

B osx2x107 = 2B
5000 x 107 "°

i.e, 2 fringes upwards
2
lone =(Wh =+l ] =(6-311, =9,
E
Momentum of photon, P = C
; E
Velocity of photon, C = P

P -side is more negative than N -side
K., =hf-W

1 : i .
Em\»v2 =hf-W is a quadratic in v, hence is a

W
parabola, open towards f-axis v=0 when f= o

For ideal diode forward resistance is zero.

So, no current will pass through 207.

i=i=i=0.025A
Ry 80

Filter is used to reduce ripple

h
LB - B
V2mk 2°
Current through resistance of 1k?
P 25~-12

1% 10°

=25x%10° A = 25mA

13mA

Current through 2K€,i" = = 6mA

2x10°
Current through zener =13 -6 = 7mA

h 6.6 x107>4

; L. =28x10*m
mv  120x 10> x 20
e\;’=ﬂhc — kmin=E
y eV

The atom is in n=5 state
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DANGAL resTSERIES

\ng! for NEET-2025
237 -209
24, a=T=7; B =-92+(83+14)=5
Hencex=7,y=5
LD X
s w=22 D _4D_
d d d
2
f 2
%6 M=- Ol1+4=2 | = _200 E
" f, D 5 25
M = -48
I
27. |, =2 c0s’60° =2
2
-7
28. =nE=M=5X‘]O_3m=5mm
a 0.2x1073
29. The distance of other end of rod from pole of
mirror.
i f_3f
2 2
I fthisend b 1 +l -1
mage of thisend be at v = 3t2 VT
v =-3f
.. Image length =3f-2f=f
M .fa ta — f — 2
agnification /2
. A
30. A=6m=60 :r=5=30
A+d R sin60
At p="""—=3
2 sin30
3. R, =15x3=45cm,R, =15x4 =6.0cm
R=R, +R, =10.5cm
32.  Virtual object can form real image in convex mirror
and plane mirror
33, =A-(B+C
y=A:(8+C)
3. Roc A
36. W=TAA = 3x10* =Tx50x107* x2
T=30x107%N/m
37.  Airflows from smaller bubble due to high pressure
38. U=1F4'?:lx200x10><1x10"3
2 2
YA
30. F= TAI = F=YA( strain)

F=YA (strain)
fora givenstrain F, >F, = A, > A,

SOLUTION : DANGAL-MTS#03

40.

4.

42,

43,

45,

46.

47,

48.
49,

50.

51

52,

CODE : 9089 (SET-B)

DATE : 02 April, 2025

dc ammeter reads average value of current.

F
a=— = vy=u+at
m

\»'=E =V, -V, =Bv/(sin30 _BRt
m 2m

Power factor cos¢ =

80 80
V80? +607 100

=0.8

B A=nr’

M

i
¢=—2\Eu|0/r =

B 2\5p10r2
==

VI
Power,P =% cosE =0
2 2

PH, (9) — =1 >P(g) + 3H(g)
P,H,(g) — 2P(9) + 4H(g), AH,,, = AH(P-P) +

AAH(P —H)
AH,, = AH(P —P)+ 4AH(P —H)
4x,

X4
=X, +4><—=)<2 +—
3 3

Standard enthalpy for formation, AH°, of an
element in reference state i.e.its most stable state
of aggregation is taken as zero.

For n moles Cp -C,=nR

CH,NH, +H,0(/) = CH;NH;(aq) + OH (aq)
Initial molar conc. 02 0 0
At equilibrium (0.2-0.2a) 02a 02a

o ]= i,C =10

POH=25 = pH=14-25=115

pH = %[pl(w +pk, + IogC]

1 1
= 5[14 +474+l0g0.2] = 5[18.74 ~0.699] =9

At 1/2 end point
[ CH,COOH | =[ CH,COONa |
So pH = pka = 4.74

F-32=2°C

°C = 2(240—32) = 115
3 9
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CODE : 9089 (SET-B)

DATE : 02 April, 2025

53.

56.

57.

58.

59.
60.

62
63.

64.

65.

98x1.8x10

M= =18 molar

Also, MV, =M, V,

0.1x1000

18xV, =0.1x1000 = V; = =5.55mL

CuSO, solution cannot be stored in both A and C
vessel as A and C both can reduce Cu** to Cu.

AG = -nFE.

cell
n= 2(H2 —2H" +2e)
o =] o 1 o
AwnG =AG (H,0)-AG (HQ)-EAfG (0,)
=-228.6kJmol™
~2286x10° = —2x 96500 xE

]

]

cell

Ecoy =118V

Temperature distribution curve for K.E. of gas
molecules.

Order of areaction is determined experimentally.
For zero order reaction, rate remains constant.
For 80%, time = 40 min

4 .
So, for 50%, time = %x 50 = 25 min = 0.416hr

Rate af conc I",2=(4)"? ..n=1/2

The reaction is first order are the unit of rate con-
stant s

t = %2303log——
K a—Xx

100

x2.303log———
100-90

 4606x1073
—05x10° =500s

2303
tege, =—l0g2

2.303

2303

t 0g4 =2x

759, = log2

= ty59, = 2X 509,

Reduction
I v
HOl — 105 + |,
Oxidation
E —115V. £ _
103 /HO! i Bhoip, =143V

(=]

E

cell —

SOLUTION : DANGAL-MTS#03

66.

67.

68.

69.
70.

72.
74.

75.

76.

78.

DANGAL resT seRIES
for NEET=-2025

E°.o s positive hence HOI will undergo
disproportionation reaction

+3 -3
Ph—NO2 - Ph- N>
changeinON.=6
So, 6F charge is required.

Cathode: Ag* +e” — Ag

Anode : H,0 > %Oz +2H" +2e”

Using Faraday's law

0.965x 1000

Mole (O,)=————
ole (02) == 56500

=25x1073

Volume (0,) —25%x1073 x22.4 =0.056L

Mixture of weak acid and its salt with a strong
base acts as an acidic buffer.

5
For A, B, K, =108S

n=CRT

_ 4x1000

6.57 5 x0.0821x 300

X

M= 4x1000x0.0821x 300
100x 6.57
Entropy is a state function

vV
AS:nRIn—2=1xRIn£ =RIn3
V. Y

1

=149.9g

2Br +H,0, — B?z +20H"

* 0.59CO, has0.011N, atoms of carbon

* 059C,0,has0.022 N, atoms of carbon

* 059 CiH,,04 has0.016 N, atoms of carbon

* 059gCH,, has0.036 N, atoms of carbon
AH_° is only for one mole and complete
combustion.

0 0 0

=[174.0 + 75] - [2x 195 + 213.7] = —354.7JK "mol ™"

i
HO—ﬁ—O—O—H

x=+6
meq. of H,SO, = meq. of metal

100><‘|=0|'E—9><‘|OOO —E-9

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 3



81

82

84,

1.

.
21,
31
a.
51,

~l® W

\ DANGAL TesT SERIES
for NEET-2025

3C,02” —6C0, change in oxidation state = 6
Moles of KMnO, required = 6/5

Henry law, is p = K ,x
x = mole fraction of dissolved gas
p = Partial pressure of gas
log p =log K, + log x
log x = log p - log K|,
Increase in volume decreases the pressure ( T=
constant), so equilibrium will shift in a direction

where number of molecules of gas increases.
2

Pa
Equilibrium constant Kp, and Kp, are L — and

-
4p,0> espectively KP4
1-a ' Ko, 4P, 4x1

~1000xk _ 1000x0.0015
m C 0.01

~150Scm?mol™

85.

86.

87.

88.

89.

SOLUTION : DANGAL-MTS#03

initial, 2 mole

fin

CODE : 9089 (SET-B)

DATE : 02 April, 2025

ATeoc i

Higher the value of AT, lower will be the freezing
point

For, Glucose,i=1 ForKBr,i=2

ForNa,S,i=3 For AICL,, i=4

1 . .
H, + 502 —H,0 is the correct equation of
AH(H,0)

Density =789kg / m’ = 0.789g/ cm’

. Molarity = 78 =17.15
46

A + 2B

3 moles
2-15 3-3
=0.5mol =0 mole
No. of sulphuratoms =02x2xN, =04 N,

3C

-

al, 4.5 mole

Answer-Key

4 2. 4 3. 1 4, 2 5. 1
2 12. 1 13. 3 14. 1 15. 1
2 22, 4 23. 3 24, 3 25, 2
4 32. 4 33. 4 34, 2 35. 4
1 42, 3 43. 2 44. 1 45, 4
3 52, 4 53. 4 54, 1 55. 4
3 62. 3 63. 4 64, 2 65. 3
4 72. 1 73. 3 74. 4 75. 4
2 82, 4 83. 2 84, 2 85, 1
3 92. 4 93. 3 94. 3 95. 2
4 102, 4 103. 2 104. 3 105. 3
1 1m2. 3 3. 3 4. 4 15. 2
4 122, 4 123. 4 124. 2 125. 4
3 132. 4 133. 2 134, 2 135. 4
2 142, 1 143. 4 144. 3 145, 3
3 152. 2 153. 3 154. 1 155. 3
3 162. 3 163. 1 164. 1 165. 2
2 172. 2 173. 4 174. 4 175. 2

- W N N PN

N N = BN R NN W=

—

7. 1 8. 2 9. 2 10. 2
7. 4 18, 2 19. 3 20. 3
27. 4 28, 4 29, 4 30. 2
37. 4 38. 2 39. 2 40. 4
47. 3 48. 1 49. 2 50. 4
57. 4 58. 3 59, 3 60. 3
67. 2 68. 1 69. 4 70. 2
77. 4 78. 1 79. 3 80. 4
87. 1 88. 3 89, 2 90. 2
97. 1 98. 4 99. 3 100. 2
107. 4 108, 2 109. 1 1m0. 2
mz. 2 1n8. 2 1M9. 2 120. 1
127. 4 128, 3 129. 4 130. 4
137. 3 138. 1 139. 3 140. 3
147. 4 148, 4 149. 4  150. 3
157. 3 158. 1 159. 2 160. 3
167. 1 168. 4 169. 3 170. 3
177. 2 178. 1 179. 1 180. 3




